ANSWERS/HINTS

EXERCISE 1.1

L @4 (i) 196 (in) 51

Bowop

in

Annteger can be of the form 6g, 69+ 1,64 + 2, 6g + 3. 6g + 4 or Gg + 5.

§ columns

Aninteger can be of the form 3¢, 3g + 1 or 3g + 2. Square all of these integers.
. Anintegercan be ofthe form 94, 99+ 1, 99+ 2,9+ 3, .. ., ot 9g + &,

EXERCISE 1.2

1. @ 2Z%5x7 (i) 2*x3x13 ity 3% 5 17
{iv) Sx7=xllx13 (v) 1T=19x23
2. @ LCM=I82HCF=13 () LCM=23460; HCF=2 {m} LCM=3024; HCF=6
3. ) LCM=420,HCF=3 (@) LCM=11339; HCF=1 (m) LCM=I80{0;HCF=1]
<, 22338 7. 30 minuies
EXERCISE 1.4
L. (i) Terminating fii) Terminating
fiii) Mon-terminating repeating {iv) Terminating
{vy Non-terminaling repeating {vi) Terminating
(vil} Non-terminating repeating (vt} Terminating
ix) Terminating {x! Non-terminating repeating
2. @ 000416 (@} 2.125 {iv) 0008373
fvi) DS {wiii) 04 {ix) 0.7
3 (v Rational, prime Tactors of ¢ will be either 2 or 5 or both oaly.
(i) Wot rational
(iii} Rational, prime factors of ¢ will also have a factor other than 2ot 5.
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EXERCISE 2.1

(i) Nozeroes (i) | {iif) 3 {iv) 2 (v 4 (vi) 3
EXERCISE 1.2
w 11 —_—
[-ﬁ _2-‘4 fﬂ:l' 2#2 fm} HEI-E
4
Gv) -2.0 (v) 15, 415 oid LS
() 4t - x4 (i) 322 - W2x+1 (i} 2% + 45
(iv) *—x+1 (v) 4+ x+ 1 fvid 2% —da+ 1

EXERCISE 2.3

(i} Quotient =x—3 and remainder= 7z -9
(i) Quotient ="+ x -3 and remainder =8
(i) Quotient =—x*—- 2 ind remainder= - 3x + 10
(i) Yes (i) Yes (iii} No 3=l
i) pl=27-2+14,gx) =2, g()=x—x+T7,rx) =0
fi) plx)=z*+x'+x+lglxi=x~Lgx)=x+ l,rix)=2x+2
(i) pl=xd+2ai—x+2, pla)=2-1, o(x)=x+2,Hx)=4
There can be several examples in each of (1). (i1) and (i),

EXERCISE 2.4 (Optional)*

4 gx)=2"-x+1

=2 -Tr+ 14
5.7

3 a=1b=+-2
5 k=35andg=-3

EXERCISE 3.1
Algebraically the two sitnations can be repregenied as follows:
=Ty +42=0; x— 3y—6=0, where x and y are respectively the present ages of Aftab and
hiz daughter. To represent the sitvations graphically, you can draw the graphs of these
two linear equations.
Algebrarcally the two sitwationz can be represented as follows:
X+ 2y=1300; x + 3y = 1 300), whera x and y are respectively the costs (in “)ofabaranda
hall. To represent the sitaations graphically, you can draw the graphs of these two linear
afuations,
Algebraically the two situations can be represented as follows:
Zx+ y=100; 4x+ 2y =300, where x and y are respectvely the prices (in * per kg) of apples
and prapes. To represent the situations graphically, you can draw the graphs of these
twer lingar equations,
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1L

3.

EXERCISE 3.2

i) Required pair of linear equalions is
x+y=10; x~ y=4, wherez 15 the number of girls and y is the number of boys.
To solve graphically draw the graphs of these equations on the same axes on graph
paper.
Girls =7, Boys=3,
(i) Required pair of linear equations 15
5x + Ty =50; Tx + 3y =46, where x and y represent the cost {in ¥) of & pencil and of
a pen respectively,
To solve graphically, draw the graphs of these equations on the same axes on graph
Paper.
Cost of one peneal = T 3, Costof ons pen= 5
(i} Interscct at a point (i} Coincident mi} Parallz]
(i} Consistent {ii Tnconsistent (i) Congistent
(ivl Consistent (v} Consistent
(it Consistent (it Inconsistent (i) Consistent (iv) Tnconsistent

The solution of (i) above, is given by y = 5 — &, where v can take any valus, 1.8, there are
infinitely many solutions.
The solution of (i1i} above is x =2, y=2,1.e., unique solution.
Length =20 m and breadth= 16 m,
One possible answer for the threc parts:
() 3x+29-T=0 (i} 2x+3y—12=0 (iii) 4x+6y—16=0
Vertices of the triangle ars (—1, 0), (4, () and (2, 3).
EXERCISE 3.3
) x=9, y=5 (i} 5=9, =6 (i} y=3x-3,
where x can take any value, i.e.. infinitely many solutions.
(v} x=2, y=3 (¢} =0, y=0 (vi) =2, y=3
x=-2, ¥y=5;, m=-1
(} x—y=26, £« =3y, where zand y are two numbers (r>yh =39, y=13,
(i) x—y=18, x+v=180, wherex and y are the measures of the two angles in degrees;
x=99 y=§l.
(i Ta+ 6y=23800, 3x + Sy = 1750, where x and y are the costs (in T} of one bat and one
hall respectively; ¥ =300, y = 50.

[iv) x+ 10y=105, x4 15y =135, where xis the fixed charge (in¥} and y 15 the charge {in
Fperkmy r=5, y=10; T 255,
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1.

2,

L.

B

(v}

(vi}

av)
(i)

(i)
(i)
{iv)

(v

0
(1ii)
(i)

(ii)

(i)
(v

(¥)

[1x—9y+4=0, ox—3y+3=0, whereyand y are numerator and denominatar of the
fragtion; -% (x=7, =%

a-3y-10=0,x-T¢+ 30 =0, where x and y arc the ages in years of Jacob and his
son; x=40,y= 10,

EXERCISE 3.4

19 & . 9 5

=T, ¥=3 i) x=2, v=1 fme=ﬁ,y=—E

x=2; y==3

x—y+2=10. 2% -y~ | =0, where x and y are the numerator and denominator of the
- & e 3.

fraction; 3

=33+ 10=0, x—2y—10=0), where x and y are the ages (in years) of Nurd and Sonu
respecavely. Ags of Num {x) = 30, Age of Sonu (y) =20,

+y=9, 8x—y=0, wherc x and y are respectively the tens and units digits of the
number; 18,

x4 2y =40, ¢+ y=205 wherexand yareregpectively the number of ¥ 50 and F LOD
notes; x=10,y=15.

x+4y =27, x+ 2y = 21, where x iz the fixed charge (in ¥) and y & the additional
charge (in¥)perday, x=15, y=13.

EXERCISE 3.5

Mo zolution (i) Uniquesolution; x=2, y=1

Infinitely many solulions (iv) Uniqoe solution; x=4, y=-1

a=5b=1 (i) k=2 Y x=-2, ¥y=5

x4 2y =1000, x+ 26w= 1180, where x s the lxed charges (in ) and y iz the charges

(in &) for food perday; x=400, y=30.

3x—y-3=0, 4x—y—-8=0, where x and y are (b numerator and denominalor of the
fraction; T

34-—_5!=4{}T2:—_u=25, where ¥ and v are the number of right Answers and wrong
angwers respectively; 20,

u—v=20, w+v=100, where u and v arc the speeds (in km/hi of the two cars; =60,
w=40),

Jx—3y—6=0, 2x+3y-61 =0, where xand y are respectively the length-and breadth
(in umits) of the rectangle; length (1) =17, breadth () = 9.
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1.

E'
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21‘

EXERCISE 3.0

[J_]' Xo=

iv] =

(vii) x=3,
1

(i

(iiy x=4, y=9 i) x:;—}q yuend
5 W z=1, y=1 (i) x=1, y=2
=2 (vitly =1, y=1

] =+t=—==p=o
and | man to finish the embroidery work; n=18. m=36.

4 1 2 2 .
o + o 4, L + N ?5, where & and v are respectively the speeds
u v ] v

(in km/h) of the train and bus: =00, v=30,

= 13 v where n and s are the number of days taken by | woman
(i}

EXERCISE 1.7 (Optionah*®
Apge of Aniis 19 vears and age of Bijo is 16 vears or age of Ani 21 years and age of Biju
24 years,
T40, T170. Let the money with the first person (in T) be x and the money with the second
person {in T) be y.
+ 100 =2y~ 100, y+ 10 =6{x~- L0}
6001w 4. 36 5, ZA=P, 2B=40°, LC=120F
Coordinates of the vertices of the triangle are ( 1, (5, (0, =37, (b, =3},

: iy ela—b)—bh cla—b) +a
=1 =1 = =
1) x=1,y (i) x Ay Y R
{iili x=0,v=b iVl x=a+5h, ¥v=— v) z=2, ¥=1
: a+b

ZA=120°% LB=M", £LC=60° £D=110"

EXERCISE 4.]
(i} Yes (i) Yes (i) No v Yes
iv) Yes ivit No fvil) No iviil) Yes

(i} 2x? 4+ £ 528 =0, where x is breadth (in metres! of the plot.

(ii] x'+x-306=0,whereristhe smaller integer.
fiii) &'+ 325—273 =0, where & (in years) is the present age of Rohan,
([iv) wl—8u— 1280 =0, where u (in km/h) i8 the speed of the rain,
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EXERCISE 4.2
LG -25 i) -2,2 (i) — = 2
2 N
P I | 1
(iv) 33 v} 1o o
2. 1 936 (H) 25,30
3. MNumbersare |3 and 14, 4, Positive integers ars 13 and 14,
5. Scmand 12 em 6. Number of articles = 6, Cost of each article=Rs 15
EXERCISE 4.3
SfE =
Lo 3 ay SV, L+ 38 iy -2, 3

!.\.'I'

4 4 2 2
{iv) Do nol exist

Sameas | B 2 _;51 2 +;'H )y 1,2 4. 7 years
Marks in mathematics = 12, marks in English = 18;

of, Marks in mathematica = 13, marks in Engligh=17

120m, 90 Y. 18,12 ar 18.<12
40 kmih 9. 15hours, 25hours
Speed of the passenger train =33 km/h, speed of express train = 44 km/h

[8m, [2m
EXERCISE 4.4

<

£
B - 2 (i} istinct roots;

38 2

(i) Real roows do notexist (i) Equoal moors;

() k== 25 (i) k=6
Yez, 40m, 20m 4. No 5. Yee 20m, 20 m
EXERCISE 5.1
(i) Yes. 15,23, 31, ... forms an AP a5 each succeeding term is obrained by adding 8 in
its preceding term,

3
i) No. Volumes are 'V, %, [%JI W, s (i} Yes. 150,200, 250, . .. form an AP,

g 8 . &7
i ; 1 +— L10000| 1 +—| + 10000} 1 + — | 52
{iv) No Amounxs.mlmm{ +luﬂ} [ mu]Z l -rlm]
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2. (0 10.20,30,40 () =2,-2,-2,-2 (iiy 4. 1,-2,-5
i) -1, ";-,u,é (v} — 125, - 1.50,- 1.75,- 2.0
3. [f} a=3, d=-12 i a=-5, d=4
(i) tr:1—~d :g v g=0.46, d=1.1
(i) No i) Yes. = kT
() Yes,d=-2:-92-112.~13.2 iv) Yes.d=4; 6, 10, 14
(v} Yes.d=2:3+4/2,3+5/2,3+6J2 (vi) No
(vii) Yes.d=-4, —1b,—20,-24 (viii) Yes. d = 0; ——;- —%'—%
xl No ix) Yes. d=a; 5a,6a, Ta
(xi) No (xi) Yes.d= -uE; dﬁ.ﬁ,JQ_ﬂ
Canl Mo (xivY Mo ) Yes d=24;97, 121, 145
EXERCISE 5.2
1. () a=28 (ii} d=2 {iii) a=46 {iv) n=10 (v} @ =3.5
2. @ C (@ B
; % wiii E= 1
3.0 g iy [2].[8] (i} {ﬁ_'_g_.
av) [2]. [o]. 2]. [ &) [53], 3] , 8], E
4. 16th term B0 M () 27
6. No 7. 178 5. &
0, Sthiert 10. | 11. &5thterm
12. 100 13, 128 14. 4
15. 13 16. 4, 10,16,322,. ..

17. 20thterm from the [asttermis 138,
18. -13,-8,-3 19, |lthyear 20, 10

LG

EXERCISE 5.3

245 (i) —180 (iily 5505 (iv) %%

2.y 1046 i (i) 286 (i) —&930

3 @ n=16,5 =440 () d=

2

| =1

 §,,=273 (i) a=4, S, =246

5]
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(v} d=-~|,d“}=ﬂ I:\’j-ﬂ=—'¥-a9=? (v} n=>5, ﬁ’n=34
. 34 i
(vil) n=6, d=? vili) =7, a=—8 (x) d=6
(x) a=4
4. 12.Byputlinga="9,d=38,5S=636in the formulaS = iﬁ‘[za +{n —1)d], we get a yuadratic
: _ _ a3
equation 4#* + 5n - 636 =0. On solving, we getn= e 12 Dut of these two roots only
one poot 12 is adrmssible.
&
S8 n=16, d= 3 6. n=38 S=0973 7. Sum= 166l
8. 5, =5610 9. nt 10. (i) 5,=525 (i) § =-465
1. §=3.5,=4, a,=5,-8 =1, §,=3, a,=5§,-5,=-1,
ﬂI|:|'=SJ.{I = S'il= : 15:‘ ﬂu = 5|| ] Su i =3-1In,
12, 4920 13. S0 14, 625 15, T2
16. Values of the prizes (in Ty are |60, 140, 120, 100, 80, 60,40,
17. X4 18, 143cm
19. |G rows, 5 logs are placed in the top row. By putting 5 =200, & = 20, d =1 in the formula
§= E-[l’ﬂ + (n = 1)d], we get, 41n— n? =400, On solving, i = 16, 25. Therefore, the
number of rows 1= either [Gor 23, - T =a+2Md=-4
i.e., nomber of logs in 25th row is — 4 which is not possible. Therefore n = 25 is not
possible. Forn =16, a,,= 5. Therefore, there are 16 rows and 5 logs placed in the top
TOW,
20. Fm
EXERCISE 5.4 (Optional)*
1. 32ndterm 2, 5,=20,76 3 3B3icm
4. 3 &8, 750m?
EXERCISE 6.1
1. (i) Sinilar (i) Simnilar (i} Equilaters)
iiv) Egual, Proportional 3. No
EXERCISE 6.2
1. (i 2em i) 24em
2. () Mo (i} Yes (iiii} Yes
9. Through O, draw a line parallel to DC, intersecting AD and BC at E-and F respectively,
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EXERCISE 6.3

1. @ Yes.AAA,AABC~APQR (ii} Yes.SSS5,AABC~AQRP
(i) No (iv) Yes.SAS, AMNL-A QPR
(v} No (vi) Yes,AA,ADEF~APQR

2. 55°.55°,55°

14. Produce AD 1o a point E soch thar AD = DE and prodoce PM o a point N such that
PM =MN. Join EC and NR.

15. £2m
EXERCISE 6.4
1. 112em 2. 4:1 g 1:4 8 C u. D
EXERCISE 6.5
1. @ Yes. 25cm {ii) No (it No fiv) Yes, 13cm
T 9. 6m 10. 67 m 1L 300461 km
12. 13m 17..C

EXERCISE 6.6 (Optional)*
1. Through R, draw a line parallel o 5P to interscet QF produced at T. Show PT =PR.

6. Usereanlt {iii) of Q.5 of this Exercise, 7. 3m, 279m

EXERCISE 7.1
1L M 242 (i a2 (i) 2fa? +3?
2. 39 39km 3 No 4. Yes 5. Champa is correct,
6. (i) Square (7} Noquadniaieral {iii) Parallelogram
7. -7.0) £ -85 9. +4,QR =41, PR =482, 92
10. 3x+y-3=0

EXERCISE 7.2

5 )
1. (1,3} 2. [l-i].[ﬂr‘:j]

. Jolm: Sthlineata distance of 22.5 m 4 2:7

L

5. l:IL(—%DJ 6. x=h y=3 T 05,100

8. [_E,_;E] g, [_1_%}”],5;,[}.%] 10. 24 sq. units
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EXERCISE 7.3
|
1. "Esq. units (i) 32 sq. units 2. (i) k=4 (ii) k=3
3 legoumt L4 4. I8 gy. units
EXERCISE 7.4 (Optional)*
1. 2;:9 2. x4+3y=-T=0 3 =2 4 (1,00 (1.4)
5. (D) (4,6),(3,2), (b, 5); taking A1) and AB az coordinaie axes
9
() (12, 2), (13, 6), (10, 3); taking CB and CD as coordinale axes. 5 5. units,
&
5 5. units; areas are the same in both the cases,
13 ’
6. —saq. ts; 1 16
3
. 79 . 111
7. B == Pl —+—
o [z 1] @ [3 3]
i) Q H-H]~I<t H-E iiv} P. Q, R are the same poinl.
3 3] F
(v) [I‘”;”“"l“;‘”ﬁl 8. Rhombus
FXERCISE 8.]
1. M ain.nﬂsl=l-l|::cs|!u!';.=ﬁ i) sinC:JdvmzC=l
23 25 25 25
f) 3 3
20 Fi cnﬁﬁ=£-tﬂnh:~— 4. s:'rnt‘s:E-sa:h:E-
4 7 17 8
. 5 12 5 12 13
& f=—, = 2 =, = —y H = —
5. =in 3 cosd 3 tam 3 cotB 3 cosccB 3
7 > g 22 B. Vi
. ) 61 i} 61 ES
F 12 5 12
9. i1 {ii) 0 10. smP=E-s cmP=E~t=mP=?
11. (i) False (i} True (iii) Palse {iv) False (v} Falze
EXERCISE 8.2
o _
1. ﬁ'} [ (i} 2 {ﬁi} M fi"-"i ﬂ_:ﬂ iv) E
8 11 12
2. i) A (i) D {iii) A fiv) C 3. ZA=45%, /B=15°
4. (1) False ) True (i) False {iv) False (v) True
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o

1.

2.

1.
T

L
3.

EXERCISE 8.3
i1 i 1 (i) 0 i) 0

LA=36° 5. LA=220 7. cos23"+&in15°
EXERCISE 8.4
f 1
——I_.;mﬁ:—lﬂtsﬂ‘:ﬂ:nl-l__mi
.“ + mtzﬁ cotA DO{A.

gind = L‘E;._l~ cnsA=L-tanA=1|ls¢c"A =

seC sec A
1 sec A
it = ———— O A = ——=—=—
A B

i 1 it 1 4. 0 B {iiy C (i) D v D
EXERCISE 4.1

10m 2. 85m 3 3m2Bm 4 105m

40M3m 6 193m 7. 20(ai-1)m 8 08(V3+1)m

2

I65m 10. 2043m, 20m, 60m 1. 10V3m, 10m 12 7(V3 +()m

75(3-1)m 14. 58-Am 15. 3 seconds
EXERCISE 10.1

Infinitely many

['ﬂ One (1) Secant (1) Two  (Gv) Pointofl contact D
EXERCISE 10.2

A B A A . 3cm

Scm 12. AB=15cm . AC=13cm
EXERCISE 12.1

28om 2. 10em

Gold: 346 Scim® Red ' 10395 em™ Blue : 1732.5 em®; Black » 2425 5 ey White: 31185 emd;

4375 5 A
EXERCISE 12.2

.J_:-.'..?:_z.m] 2_ Izcml _3‘ Em]‘

7 g 3

i) 28.5cm! (i) 2355cm®
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5. () 2em (i) 231 em? (i} [JBI—#
6. 204375en?; 6860625 cmd 7. 88.44 em?
J85
i} 1%625mt ) 38875 emt 9. {1} 285mm ) i mm®
232275
10. ==—om’ i, DL 5 12. 189.97 kn?®
28 126
13. F1A268 14. T
EXERCISE 12.3
5
1. oL cm’ 2. Evl:m 3 42 om?
I8 3
22528
4. (@H@E]m‘ 5. i—sm* 6. [ > —?ﬁ?m@]cml‘
7. 42cmt 8. i) ?-E;“-“ fi (i) 4320
), fAS5cem’ 10, 16205 em? 11. 378 et
12. @ g et (i) %’ coit 13, 228 eni?
256
14. ? cm? 15, 98 en? 16. =~ cm’
EXERCISE 13.1
1. 160cm? 2. 52 om? 3 2145em?
4. Greatest diameter = 7 em.surface area = 332.5 om?
s, i.:i (m+24) 6. 220mf 7. 44 mi, Re22000
8. I8cmt 9, 374 em?
EXERCISE 13.2
1. mem®
2. 66cm’, Wolume of the air inside the model = Volume of air inside (cone + cylinder + cone)

= [é‘.m-lh +7rth+ é xrih } where r is the radiuvs of the cone and the cylinder, k| is

the height (length) of the cone and k, 15 the height (length) of the cylinder.

Required Yolume = %m‘"‘{ﬁlﬂfh +hy),
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3. 338em® 4. 52353 cm? 5. 100 6. 892.20kg
7. 1131 m?* (approx.) 8. Mot correct. Correct angwer is 346.51 cm?,

EXERCISE 13.3
1. 274em L 12em 3 25m
4. 1125m 510 6. 400
7. 36cm; 12413cm 8. 562500m* or 56.25 hectares. 9. 100 minutes

1

1.

1.
:i
5.

]!

EXERCISE 134

lﬂli-cm$ 2. 48cm? 3 '?'I[h:—cml

Costof millcis F 200 and costof metal sheet is 156,75, 5 T964.4m
EXERCISE 13.5 (Optional)*
| 256 cm; 788 g (approx) 2. 30,14 em® 52.75 cin?

1792 8. ?Ei%cm*

EXERCISE 14.1
E.1 plants, We have vsed direct method becanse numerical values of x and f are small.

714520 3. f=20 4. 759
57.19 6. 7211 7. 0.099 ppm
12.38 days 9. 6943 %

EXERCISE 14.2
Mode = 36.8 years. Mean = 35.37 years. Maximum number of patients admitted in the

hospital are of the age 36.8 years (approx.), while on an average the age of a patient
admitted to the hospital is 35.37 years,

65.625 hours
Modal monthly expenditure = ¥1847.83, Mean ronthly expenditure = ¥ 2062.5,

Mode 30,6, Mean =292 Most states/U.T. have 3 student teacher ratio of 30.6 and on
an gverage, this rato is 20.2.

Mode =4608.7 runs 6. Mode=44.7 cars
EXERCISE 14.3
Median = 137 units, Mean = 137,05 units, Mode = 135.76 unmits.
The three measures are approximarely the same in this case,
x=R.y=T7 3. Median age = 3576 years
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4. Median length = 14675 mm 5. Median life= 340698 hours
6. Median==8.05. Mean=8.32, Modalsize=788
7. Median weight = 56.67 kg

EXERCISE 14.4

1.
Daily income (in ¥) Cuomulative
frequency

Less than 120 o5
Less than 140 26 Draw ogive by plotting the points |
Less than 160 M (120 12), (140, 26), (160, 34).
Less than 180 40 (DR, 400 and {200, 500
Lesg than 200 b ]

2. Draw the ogive by plotting the poinls ; (38, 0), (40, 3), (42, 53, (44, 9), (46, 14}, (48, 28),
(50,32) and (52, 35). Here '—; = 17.5. Locats the point on the ogive whose ordinate is 17,5,

The x-coordinate of this point will be the median,

i
Production yield Cumulative
(kg/ha) frequency
More than or equal ta 50 16X
More than or equal to 53 o8
More than or equal to 60 o)
More than or equal to 65 i
More than or equal to 70 L
More than or equal to 75 6

MNow, draw the ogive by plotting the points: (30, 1, (55, 58), (60, 900, (63, 781, (70, 54)
and {75, 162,
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13.

14,

15.

17.

19.

EXERCISE 15.1

i 1 (i) 0, impossible cvent (iii} 1, sur= or certain event
(v} | (v) 0,1
The experments (111) and (iv) have equally likely outcomes.

When we toss a coin, the ouicomes head and tail are equally lilely. So, the resalt of an
individoal enin toss i3 completely unprediciable,

B 5. 09 . () O 1
= 3 -
0.008 B0 2 i) 2
LA R wal @l
(1 17 (i) 17 (i) 7 L (1) 9 (i) T
3 et i @ an
13 (1 (i) > {1t} {1v}

1 PR | o
(i 3 {ii} 5 (iii) 2

o e - L N 1 o L
(i) 2:‘.; (1) 13 (i) 26 (v} 5 {v) 4 {wi) 5
i 2 ; 1 1
@ 3 {i1) {a) 3 b 0 16. T
o L _— a2 g kb i o
(i) 5 i 19 . (1) 0 (i) 0 i} 5
= ]I . i 20 & I o o X
® 3 5 " 24 - @ 35 W 3¢
(i)
Surion 2 3 4 5 ) T 8 9 | n 12
2 dice
pessnie| o= | 2 Z | A2 L - T O T g
L el Bl (sl Wl (Bl fev vl el el vl (e

{{] MNo.The sleven sums are not equally likely,
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23. % Possible cutcomes are : HHH, TTT, HHT, HTH, HTT. THH, THT, TTH. Here, THH

rneans tail in the first toss, head on the second toss and head on the third toss and 5o on.

.15 o Xl
4. (i :ﬁi (i1} 6
25. (i) Incotrect. We can classify the outcomes like this but they are not then ‘equaily
likely". Reazon is that *one of each’ can regult In two ways — from a head on first
coin and ail on the second coin or from A tail on the first coin and head on the
secotid coin, This makes it twicely as likely as two heads (or two tails).

(i) Correcl. The two onicomes congidered in the guestion are equally likely.

EXERCISE 15.2 (Optional}®

1 . B .4
L @ 5 {ii} 25 (i) 2
2 1 2 2 3 3 6
1 2 3 3 4 4 7
i 4 4 4 5 5 8
2 3 4 4 5 3 g
3 4 5 5 & & o
3 4 5 5 f 6 9
G 7 8 8 ] ) 12
i ol L. N
() 5 ) 3 firi) 02
N 4 Lix=3 5 8
12

EXERCISE Al.1

1. (i) Ambiguons (i) True i) True {v) Ambiguous
(v) Ambiguous
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'2-
£
4

1.

4.

1.

1.

zi

i} True (i) Troe {iii) Falss iiv) Trus (v} Trus
Only (ii) is true,

(1)
(i)
(i)
Ly

Ha=0andg?=>#, thena=> b,

Tfay=0anda®=y" thenx=y
Hix+yrPr=2+yandy20, thenx =1

The diagonals of a parallelogram bizect each other,

EXERCISE Al.2

A s maortal 2. abis ratonal

Decimal expansion of /|7 is non-terminating non -recurring.

y=T7

5 AA=100° £C=1000, £ D=180"

PORS is a rectangle.

Yes, because of the premise, No, becanse +/3721 = &1 which is not irrational, Since the
premise was wrong, the conclusion is false,

EXERCIST Al.3

Take two consecutive odid numbers a8 26 + 1 and 2n + 3 fof some infeger n,

]
(i
(i}
(i)
(v
(w1}
(i)
(i)
o)
(x)
(i)

EXERCISE Al4
Man is not mortal,
Line | is not parallel wo line m,
The chapter does not have many excrcises.
Mot all integers are rational nombers,
All prieae aumbers are ool odd,
Some students arc lazy.
All cats are black.

Therc is at least one real number i, such that [y =—1.

2 does not divide the positive integer 4.

Tntegers a and b are not coprime,

Yes (i} Mo (i) No {1v) No (v} Yes



